

ORIGINAL PAPER

# The Solution Sets of $[x]^2 - c = 0$ , $[x^2] - c = 0$ and $x[x] - c = 0$ where $c$ is a Real Number

Sirirat Singhun<sup>1,\*</sup>, Chatchapong Singhun<sup>2</sup> and Somsak Aranya<sup>2</sup>

<sup>1</sup> Department of Mathematics, Faculty of Science, Ramkhamhaeng University, Bangkok, Thailand

<sup>2</sup> The demonstration School of Ramkhamhaeng University, Bangkok, Thailand

\* Corresponding author: [sin\\_sirirat@ru.ac.th](mailto:sin_sirirat@ru.ac.th)

Received: 02 September 2025 / Revised: 30 September 2025 / Accepted: 10 October 2025

**Abstract.** The ceiling function of a real number  $x$ , denoted by  $[x]$ , is the least integer greater than or equal to  $x$ . In this article, the solution sets of  $[x]^2 - c = 0$ ,  $[x^2] - c = 0$  and  $x[x] - c = 0$ , where  $c$  is a real number are shown.

**Keywords:** quadratic equation, solution set, the ceiling function

## 1. Introduction

Finding solutions of the equation is a basic study in mathematics. Starting with the linear equation  $ax - b = 0$ , where  $a$  and  $b$  are real number and  $a \neq 0$ , we see that  $x = \frac{b}{a}$  is the solution. For the quadratic equation  $ax^2 + bx + c = 0$ , where  $a, b$  and  $c$  are real numbers and  $a \neq 0$ , we see that if  $b^2 - 4ac \geq 0$ , then the equation has real solutions and  $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$  are the solution.

The floor function of a real number  $x$ , denoted by  $[x]$ , is the greatest integer less than or equal to  $x$ . The function is introduced in calculus. In 2020, Matsko [3] interested in the floor function and replaced  $x$  in the quadratic equation  $x^2 + bx + c = 0$  by  $[x]$ . The behaviors of solutions of equations: (1)  $[x]^2 + b[x] + c = 0$ , (2)  $[x]^2 + bx + c = 0$ , (3)  $x[x] + bx + c = 0$ , (4)  $[x^2] + bx + c = 0$ , (5)  $x[x] + b[x] + c = 0$ , (6)  $x^2 + b[x] + c = 0$ , and (7)  $[x^2] + b[x] + c = 0$ , are posed. The solutions are depended on  $b$  and  $c$ . In 2024, W. Kitcharoensubdee et. al. [2] obtained the solution sets of the quadratic equations,

$$(Eq.1) [x]^2 - c = 0, (Eq.2) [x^2] - c = 0,$$

$$(Eq.3) x[x] - c = 0, (Eq.4) [x]^2 + b[x] = 0, (Eq.5) x[x] + bx = 0, (Eq.6) x[x] + b[x] = 0, (Eq.7) [x]^2 + bx = 0, (Eq.8) [x]^2 + b[x] = 0,$$

by taking  $b = 0$  or  $c = 0$  in the quadratic equations of Matsko. They said that it is easy to find the solution set of the linear equation  $a[x] + b = 0$ . The following theorem shows the solution sets of the first three equations, (Eq.1) - (Eq.3).

**Theorem 1.1** [2]

- (i)  $[x]^2 - c = 0$  has a solution if and only if  $c$  is a square integer. In the case that it has a solution, the solution set is  $[-\sqrt{c}, -\sqrt{c} + 1) \cup [\sqrt{c}, \sqrt{c} + 1)$ .
- (ii)  $[x^2] - c = 0$  has a solution if and only if  $c \in \mathbb{N} \cup \{0\}$ . In the case that it has a solution, the solution set is  $(-\sqrt{c+1}, -\sqrt{c}] \cup [\sqrt{c}, \sqrt{c+1})$ .

**Theorem 1.2** [2] Let  $c \neq 0$  and  $S$  be a solution set of  $x[x] - c = 0$ .

- (i) If there is an  $n \in \mathbb{N}$  such that  $c \in (n^2, n(n+1))$ , then  $S = \{\frac{c}{n}\}$ .
- (ii) If there is an  $n \in \mathbb{N}$  such that  $c \in ((n-1)n, n^2)$ , then  $S = \{-\frac{c}{n}\}$ .
- (iii) If there is an  $n \in \mathbb{N}$  such that  $c = n^2$ , then  $S = \{-n, n\}$ .
- (iv) If  $c < 0$  or there is an  $n \in \mathbb{N}$  such that  $c = n(n+1)$ , then  $S = \emptyset$ .

In Chapter 3 of calculus textbook [1], the authors presented the ceiling function of a real number  $x$ , denoted by  $[x]$ . It is the least

integer greater than or equal to  $x$ . Some properties about the ceiling function are the following.

Let  $x$  be a real number and  $n$  be an integer.

1.  $[x] = x$  if and only if  $x$  is an integer.
2.  $x \leq [x] < x + 1$ .
3.  $[x] = n$  if and only if  $n - 1 < x \leq n$ .

We are interested in the solution sets of the linear equation and the quadratic equation when  $x$  is replaced by  $[x]$ . For the linear equation  $a[x] + b = 0$ , where  $a$  and  $b$  are real numbers and  $a \neq 0$ , we see that such equation has a solution if and only if  $a$  divides  $b$ . If it has a solution, then  $\left(-\frac{b}{a} - 1, -\frac{b}{a}\right]$  is the solution set. In this article, the solution sets of equations,  $[x]^2 - c = 0$ ,  $[x^2] - c = 0$  and  $x[x] - c = 0$ , where  $c$  is a real number, are shown.

## 2. Results

In this section, we obtain sufficient and necessary conditions for equations,  $[x]^2 - c = 0$ ,  $[x^2] - c = 0$  and  $x[x] - c = 0$ , where  $c$  is a real number, to have solutions and then the solution sets are shown. First, we begin with  $[x]^2 - c = 0$ .

**Theorem 2.1** Let  $c$  be a real number. Then,  $[x]^2 - c = 0$  has a solution if and only if  $c$  is a square integer.

**Proof.** Let  $c$  be a real number. Assume that  $[x]^2 - c = 0$  has a solution. Let  $a$  be a solution of  $[x]^2 - c = 0$ . Then,  $[a]^2 - c = 0$ . That is,  $c = [a]^2$ . Since  $[a]$  is an integer,  $c$  is a square integer.

Next, assume that  $c$  is a square integer. There is an integer  $n$  such that  $c = n^2$ . Since  $n^2 = [n]^2$ ,  $[n]^2 - c = c - c = 0$ . Therefore,  $[x]^2 - c = 0$  has a solution.

**Theorem 2.2** Let  $c$  be a real number. If  $[x]^2 - c = 0$  has a solution, then the set

$$(-\sqrt{c} - 1, -\sqrt{c}] \cup (\sqrt{c} - 1, \sqrt{c}]$$

is the solution set.

**Proof.** Let  $c$  be a real number and  $S$  be the solution set of  $[x]^2 - c = 0$ . Assume that  $[x]^2 - c = 0$  has a solution. By Theorem 2.1,

$c$  is a square integer. There is an integer  $n$  such that  $c = n^2 \geq 0$ . Assume that  $a \in S$ . Then,  $[a]^2 - n^2 = 0$ . Thus,  $[a] = -n$  or  $[a] = n$ . This implies that

$$a \in (-n - 1, -n] \cup (n - 1, n].$$

Since  $c = n^2$ ,  $\sqrt{c} = n$ . Then,  $S \subseteq (-\sqrt{c} - 1, -\sqrt{c}] \cup (\sqrt{c} - 1, \sqrt{c}]$ .

Next, assume that  $a \in (-\sqrt{c} - 1, -\sqrt{c}] \cup (\sqrt{c} - 1, \sqrt{c}]$ . Then,  $[a] = -n$  or  $[a] = n$ . This implies that  $[a]^2 - n^2 = n^2 - n^2 = 0$ . Thus,  $a \in S$ .

Therefore,  $S = (-\sqrt{c} - 1, -\sqrt{c}] \cup (\sqrt{c} - 1, \sqrt{c}]$  is the solution set of  $[x]^2 - c = 0$ .

Next, we consider  $[x^2] - c = 0$ .

**Theorem 2.3** Let  $c$  be a real number. Then,  $[x^2] - c = 0$  has a solution if and only if  $c$  is a non-negative integer.

**Proof.** Let  $c$  be a real number and  $a$  be a solution of  $[x^2] - c = 0$ . Then,  $[a^2] - c = 0$ . That is,  $[a^2] = c$ . Since  $a^2 \geq 0$  and  $[a^2]$  is an integer,  $c = [a^2]$  is a non-negative integer. Next, assume that  $c$  is a non-negative integer. Then,  $[(\sqrt{c})^2] - c = c - c = 0$ . That is,  $\sqrt{c}$  is a solution of  $[x^2] - c = 0$ . Therefore,  $[x^2] - c = 0$  has a solution.

By Theorem 2.3, we see that if  $c < 0$  or  $c$  is a real number such that  $c$  is not an integer, then  $[x^2] - c = 0$  has no solutions. The following theorem shows the solution set of  $[x^2] - c = 0$ .

**Theorem 2.4** Let  $c$  be a real number and  $S$  be the solution set of  $[x^2] - c = 0$ .

1. If  $c = 0$ , then  $S = \{0\}$ .

2. If  $c$  is a positive integer, then  $S = [-\sqrt{c}, -\sqrt{c-1}] \cup (\sqrt{c-1}, \sqrt{c}]$ .

**Proof.** Let  $c$  be a real number and  $S$  be the solution set of  $[x^2] - c = 0$ .

1. If  $c = 0$ , by Theorem 2.3,  $[x^2] - c = 0$  has a solution. Let  $a \in S$ . Then,  $[a^2] = 0$ . That is,  $a^2 = 0$ . Then,  $a = 0$ . Thus,  $S \subseteq \{0\}$ . Since  $[0^2] = 0$ ,  $\{0\} \subseteq S$ . Therefore,  $S = \{0\}$  is the solution set of  $[x^2] - c = 0$ .

2. If  $c$  is a positive integer, by Theorem 2.3,  $[x^2] - c = 0$  has a solution. Let

$a \in S$ . Then,  $[a^2] - c = 0$ . That is,  $[a^2] = c$ . Then,  $a^2 \in (c-1, c]$ , i.e.  $c-1 < a^2 \leq c$ . Thus,  $\sqrt{c-1} < |a| \leq \sqrt{c}$ . That is,  $\sqrt{c-1} < |a|$  and  $|a| \leq \sqrt{c}$ .

Then,  $(-\sqrt{c-1} < a \text{ or } \sqrt{c-1} > a)$  and  $-\sqrt{c} \leq a \leq \sqrt{c}$ . Thus,  $a \in [-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}]$ . This implies that  $S \subseteq [-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}]$ .

Next, assume that

$a \in [-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}]$ . We see that  $c-1 < a^2 \leq c$ . Then,  $[a^2] = c$ . That is,  $[a^2] - c = 0$ . Thus,  $[-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}] \subseteq S$ . Therefore,  $S = [-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}]$  is the solution set of  $[x^2] - c = 0$ .

Finally, we consider  $x[x] - c = 0$  in Lemma 2.5 - 2.10 depending on the value  $c$ .

**Lemma 2.5** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . If  $c < 0$ , then  $S = \emptyset$ .

**Proof.** Let  $c$  be a real number such that  $c < 0$ . Suppose that  $S \neq \emptyset$ . Then, there is a real number  $a \in S$ . That is,  $a[a] = c$ . Since  $c < 0$ ,  $a[a] < 0$ .

If  $a > 0$ , then  $[a] > 0$ . This implies that  $a[a] > 0$ , a contradiction.

If  $a \leq 0$ , then  $[a] \leq 0$ . This implies that  $a[a] \geq 0$ , a contradiction. Therefore,  $S = \emptyset$ .

**Lemma 2.6** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . If  $c = 0$ , then  $S = (-1, 0]$ .

**Proof.** Let  $c = 0$  and  $S$  be the solution set of  $x[x] - c = 0$ .

1. We will show that  $(-1, 0] \subseteq S$ . Assume that  $x \in (-1, 0]$ . Then,  $[x] = 0$ . That is,  $x[x] = 0$ . Thus,  $(-1, 0] \subseteq S$ .

2. We will show that  $S \subseteq (-1, 0]$ . Suppose that there is a real number  $a \in S$  such that  $a \notin (-1, 0]$ . Then,  $a[a] = 0$ .

If  $a > 0$ , then  $[a] > 0$ . Thus,  $a[a] > 0$ , a contradiction.

If  $a \leq -1$ , then  $[a] \leq -1$ . Thus,  $a[a] > 0$ , a contradiction.

Therefore,  $S = (-1, 0]$  is the solution set of  $x[x] = 0$ .

**Lemma 2.7** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . If there is a positive integer  $n$  such that  $c \in ((n-1)n, n^2)$ , then  $S = \{\frac{c}{n}\}$ .

**Proof.** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . Assume that there is a positive integer  $n$  such that  $c \in ((n-1)n, n^2)$ . That is,  $0 \leq (n-1)n < c < n^2$ . Then,  $n-1 < \frac{c}{n} < n$ . This implies that  $\left[\frac{c}{n}\right] = n$ . We will show that  $S = \{\frac{c}{n}\}$ .

1. We will show that  $\{\frac{c}{n}\} \subseteq S$ . Since  $\frac{c}{n} \left[\frac{c}{n}\right] - c = \frac{c}{n}(n) - c = 0$ ,  $\frac{c}{n}$  is a solution of  $x[x] - c = 0$ . Then,  $\{\frac{c}{n}\} \subseteq S$ .

2. We will show that  $S \subseteq \{\frac{c}{n}\}$ . Suppose that there is a real number  $a \in S$  such that  $a \neq \frac{c}{n}$ . Since  $c \in ((n-1)n, n^2)$ , we see that  $n^2 - c > 0$ ,  $(n-1)n - c < 0$  and  $n-1 < \frac{c}{n} < n$ . Then,  $\left[\frac{c}{n}\right] = n$ .

Case 1:  $a > \frac{c}{n}$ . Then,  $[a] \geq \left[\frac{c}{n}\right]$ . Thus,  $a[a] - c > \frac{c}{n}(n) - c = c - c = 0$ , a contradiction.

Case 2:  $0 \leq a < \frac{c}{n}$ . Then,  $[a] \leq \left[\frac{c}{n}\right]$ . Thus,  $a[a] - c < \frac{c}{n}(n) - c = c - c = 0$ , a contradiction.

Case 3:  $-n < a < 0$ . Then,  $-(n-1) \leq a < 0$ . We see that,  $-(n-1) \leq [a] \leq 0$ . Thus,

$a[a] - c < (-n)(-(n-1)) - c = n(n-1) - c < 0$ , a contradiction

Case 4:  $a \leq -n$ . Then,  $[a] \leq [-n] = -n$ . Thus,

$a[a] - c > (-n)(-n) - c = n^2 - c > 0$ , a contradiction.

From cases 1, 2 and 3, we can conclude that  $S \subseteq \{\frac{c}{n}\}$ .

Therefore, we can conclude that  $S = \{\frac{c}{n}\}$ .

**Lemma 2.8** Let  $c$  be a real number and  $S$  be the set of solution of  $x[x] - c = 0$ . If there is a positive integer  $n$  such that  $c = n^2$ , then  $S = \{-n, n\}$ .

**Proof.** Let  $c$  be a real number and assume that there is a positive integer  $n$  such that  $c = n^2$ . That is,  $c > 0$ . We will show that  $S = \{-n, n\}$ .

1. We will show that  $\{-n, n\} \subseteq S$

If  $x = -n$ , then  $x[x] - c = (-n)[-n] - n^2 = n^2 - n^2 = 0$ . Thus,  $-n$  is a solution of  $x[x] - c = 0$ .

If  $x = n$ , then  $x[x] - c = (n)[n] - n^2 = n^2 - n^2 = 0$ . Thus,  $n$  is a solution of  $x[x] - c = 0$ .

Thus,  $\{-n, n\} \subseteq S$ .

2. We will show that  $S \subseteq \{-n, n\}$ .

Suppose that there is a real number  $a \in S$  such that  $a > n$  or  $-n < a < n$  or  $a < -n$ .

Case 1:  $a > n$ . Then,  $[a] > n$ . We see that  $a[a] - c > n(n) - n^2 = 0$ , a contradiction.

Case 2:  $-n < a < n$ .

If  $0 < a < n$ , then  $[a] \leq n$ . Thus,  $a[a] - c < n(n) - n^2 = 0$ , a contradiction.

If  $-n < a \leq 0$ , then  $[a] > -n$ . Thus,  $a[a] - c < (-n)(-n) - n^2 = 0$ , a contradiction.

Case 3:  $a < -n$ . Then,  $[a] \leq -n$ .

Thus,  $a[a] - c > (-n)(-n) - n^2 = 0$ , a contradiction.

From cases 1 and 2,  $S \subseteq \{-n, n\}$ .

Therefore, we can conclude that  $S = \{-n, n\}$ .

**Lemma 2.9** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . If there is a positive integer  $n$  such that  $c \in (n^2, n(n+1))$ , then  $S = \{-\frac{c}{n}\}$ .

**Proof.** Let  $c$  be a real number and  $S$  be the set of solution of  $x[x] - c = 0$ . Assume that there is a positive integer  $n$  such that  $c \in (n^2, n(n+1))$ . That is,  $0 < n^2 < c < n(n+1)$ . Then,  $n < \frac{c}{n} < n+1$  and  $-(n+1) < -\frac{c}{n} < -n$ . Thus,  $[-\frac{c}{n}] = -n$ . We will show that  $S = \{-\frac{c}{n}\}$ .

1)  $-\frac{c}{n} < -n$ . Thus,  $[-\frac{c}{n}] = -n$ . We will show that  $S = \{-\frac{c}{n}\}$ .

1. We will show that  $\{-\frac{c}{n}\} \subseteq S$ . Since

$$-\frac{c}{n}[-\frac{c}{n}] - c = -\frac{c}{n}(-n) - c = 0,$$

$-\frac{c}{n}$  is a solution of  $x[x] - c = 0$ . Then,  $\{-\frac{c}{n}\} \subseteq S$ .

2. We will show that  $S \subseteq \{-\frac{c}{n}\}$ . Suppose that there is a real number  $a \in S$  such that  $a \neq -\frac{c}{n}$ .

Case 1:  $a > n$ . Then,  $[a] > n$  and  $a \geq n+1$ . Thus,

$$a[a] - c > (n+1)n - c > 0,$$

a contradiction.

Case 2:  $0 < a \leq n$ . Then,  $[a] \leq n$ .

Thus,

$$a[a] - c \leq (n)(n) - c = n^2 - c < 0,$$

a contradiction.

Case 3:  $-\frac{c}{n} < a < 0$ . Then,  $[-\frac{c}{n}] \leq [a] \leq 0$ . Since  $c \in (n^2, n(n+1))$ ,  $-(n+1) < -\frac{c}{n} < -n$ . Thus,  $[-\frac{c}{n}] = -n$ . We see that

$$a[a] - c < \left(-\frac{c}{n}\right)\left[-\frac{c}{n}\right] - c = \left(-\frac{c}{n}\right)(-n) - c = c - c = 0,$$

a contradiction.

Case 4:  $a < -n$ . Then,  $[a] \leq [-\frac{c}{n}]$ .

Since  $c \in (n^2, n(n+1))$ ,  $-(n+1) < -\frac{c}{n} < -n$ . Thus,  $[-\frac{c}{n}] = -n$ . We see that

$$a[a] - c > \left(-\frac{c}{n}\right)\left[-\frac{c}{n}\right] - c = \left(-\frac{c}{n}\right)(-n) - c = c - c = 0,$$

a contradiction.

From cases 1, 2, 3 and 4,  $S \subseteq \{-\frac{c}{n}\}$ .

Therefore, we conclude that  $S = \{-\frac{c}{n}\}$ .

**Lemma 2.10** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . If there is a positive integer  $n$  such that  $c = n(n+1)$ , then  $S = \emptyset$ .

**Proof.** Let  $c$  be a real number and  $S$  be the solution set of  $x[x] - c = 0$ . Suppose that there is a positive integer  $n$  such that  $c = n(n+1)$  and  $S \neq \emptyset$ . Let  $a \in S$ . Then,  $a[a] - c = 0$ . That is,  $a[a] - n(n+1) = 0$ . So  $a[a] = n(n+1)$ . If  $a \in (-1, 0]$ , then  $[a] = 0$ . This implies that  $a[a] = 0$  which is impossible. Then,  $a \notin (-1, 0]$ .

Case 1:  $a > 0$ . Then,  $0 \leq [a] - 1 < a \leq [a]$ . This implies that

$$([a] - 1)^2 < [a]([a] - 1) < a[a] \leq [a]^2. \quad (2.1)$$

Since  $a[a] = n(n+1)$ ,  $([a] - 1)^2 < [a]([a] - 1) < n(n+1) \leq [a]^2$ . Then,  $[a] - 1 < \sqrt{n(n+1)} \leq [a]$ . Thus,

$$[\sqrt{n(n+1)}] = [a]. \quad (2.2)$$

From (2.1) and (2.2), we see that

$$[a] = [\sqrt{n(n+1)}] = n+1. \quad (2.3)$$

Since  $a[a] = n(n+1)$ ,  $n(n+1) = a[a] = a(n+1)$ . Thus,  $a = n$ . We see that  $[a] = n$ . (2.4)

From (2.3) and (2.4), it is impossible.

Case 2:  $a \leq -1$ . Then  $[a] - 1 < a \leq [a] \leq 0$ . Since  $a[a] = n(n+1) > 0$ ,  $[a] \neq 0$ . Then,  $[a] - 1 < a \leq [a] < 0$ . Thus,  $([a] - 1)^2 > [a]([a] - 1) > a[a] \geq [a]^2$ . Since  $a[a] = n(n+1) > 0$ ,  $([a] - 1)^2 > n(n+1) \geq [a]^2$ . Then,  $[a] - 1 < -\sqrt{n(n+1)} \leq [a]$ . Thus,

$$[-\sqrt{n(n+1)}] = [a]. \quad (2.5)$$

Since  $n^2 < n(n+1) < (n+1)^2$ ,  $n < \sqrt{n(n+1)} < n+1$ . Then,  $-(n+1) < -\sqrt{n(n+1)} < -n$ . Thus,

$$[-\sqrt{n(n+1)}] = -n. \quad (2.6)$$

From (2.5) and (2.6),

$$[a] = [-\sqrt{n(n+1)}] = -n. \quad (2.7)$$

Since  $a[a] = n(n+1)$ ,  $n(n+1) = a[a] = a(-n)$ . Thus,

$$a = -(n+1) \text{ and } [a] = -(n+1) \quad (2.8)$$

From (2.7) and (2.8), it is impossible.

Therefore,  $S = \emptyset$ .

Before concluding the solution set of  $x[x] - c = 0$ , we show Lemma 2.11 that is used in the proof of Theorem 2.12.

**Lemma 2.11** Let  $c > 0$  and  $T = \{x \in \mathbb{N} | (x-1)x < c\}$ . Then, there is the maximum positive number in  $T$ .

**Proof.** We will show that  $T$  is the finite set. Since  $1 \in T$ ,  $T \neq \emptyset$ . Let  $x \in T$ . Then,  $x \in \mathbb{N}$  and  $(x-1)x < c$ . Thus,  $x^2 - x - c < 0$ . This implies that

$$\left(x - \frac{1}{2} - \sqrt{c + \frac{1}{4}}\right) \left(x - \frac{1}{2} + \sqrt{c + \frac{1}{4}}\right) < 0.$$

Then,

$$\frac{1}{2} - \sqrt{c + \frac{1}{4}} < x < \frac{1}{2} + \sqrt{c + \frac{1}{4}}.$$

Hence,  $T$  is the finite set. Therefore, there is the maximum positive number in  $T$ .

From Lemmas 2.5 - 2.10, we conclude the solution sets of  $x[x] - c = 0$  in the following theorem.

**Theorem 2.12** Let  $c$  be a real number. Then,  $x[x] - c = 0$  has a solution if and only if  $c \geq 0$  and  $c \neq n(n+1)$  for all positive integer  $n$ . Moreover, if  $x[x] - c = 0$  has a solution and  $S$  is the solution set, then

1.  $S = (-1, 0]$  when  $c = 0$ ;
2.  $S = \left\{\frac{c}{n}\right\}$  when there is a positive integer  $n$  such that  $c \in ((n-1)n, n^2)$ ;
3.  $S = \{-n, n\}$  when there is a positive integer  $n$  such that  $c = n^2$ ; and
4.  $S = \left\{-\frac{c}{n}\right\}$  when there is a positive integer  $n$  such that  $c \in (n^2, n(n+1))$ .

**Proof.** Let  $c$  be a real number. If  $c < 0$  or  $c = n(n+1)$  for some positive integer  $n$ , then, by Lemma 2.5 and Lemma 2.10,  $x[x] - c = 0$  has no solution.

Next, assume that  $c \geq 0$  and  $c \neq n(n+1)$  for all positive integer  $n$ . If  $c = 0$ , then, by Lemma 2.6,  $S = (-1, 0]$  is the set of solutions. In the case that  $c > 0$ , let

$$T = \{x \in \mathbb{N} | (x-1)x < c\}.$$

By Lemma 2.11, there is the maximum positive number  $n_1 \in T$ . Then,  $n_1 + 1 > n_1$ ,  $n_1 + 1 \notin T$  and  $c \neq n_1(n_1 + 1)$ . That is,  $(n_1 - 1)n_1 < c < n_1(n_1 + 1)$ .

If  $c \in ((n_1 - 1)n_1, n_1^2)$ , by Lemma 2.7,  $S = \left\{\frac{c}{n_1}\right\}$  is the set of solutions.

If  $c = n_1^2$ , by Lemma 2.8,  $S = \{-n_1, n_1\}$  is the set of solutions.

If  $c \in (n_1^2, n_1(n_1 + 1))$ , by Lemma 2.9,  $S = \left\{-\frac{c}{n_1}\right\}$  is the set of solutions.

This completes the proof.

### 3. Conclusions

This article presents sufficient and necessary conditions for three quadratic equations to have solutions and their solution sets. For the equations,  $[x]^2 - c = 0$  and  $[x^2] - c = 0$ , where  $c$  is a real number, the conditions and the solution sets in, Theorems 2.1 - 2.4, are shown in Table 3.1.

For the equation  $x[x] - c = 0$ , in order to understand the solution set in Theorem 2.11, we present each positive integer  $n$ , the value  $c$  and the solution set of  $x[x] - c = 0$  as Table 3.2. In the future work, we interest in the solution sets of the quadratic equations (Eq.4) - (Eq.8) replaced by the ceiling function.

**Table 3.1** The conditions and the solution sets of  $[x]^2 - c = 0$  and  $[x^2] - c = 0$ , where  $c$  is a real number

Equation	Condition	Solution Set
$[x]^2 - c = 0$	$c$ is a square integer	$S = (-\sqrt{c} - 1, -\sqrt{c}] \cup (\sqrt{c} - 1, \sqrt{c}]$
$[x^2] - c = 0$	$c$ is a non-negative integer	
	$-c = 0$	$S = \{0\}$
	$-c \in \mathbb{N}$	$S = [-\sqrt{c}, -\sqrt{c-1}) \cup (\sqrt{c-1}, \sqrt{c}]$

**Table 3.2** Each positive integer  $n$ , the value  $c$  and the solution sets of  $x[x] - c = 0$  obtained from Theorem 2.12.

The equation $x[x] - c = 0$					
Condition	$c < 0$	$c = 0$			
$n = 1$		$c \in (0,1)$	$c = 1$	$c \in (1,2)$	$c = 2$
$n = 2$		$c \in (2,4)$	$c = 4$	$c \in (4,6)$	$c = 6$
$n = 3$		$c \in (6,9)$	$c = 9$	$c \in (9,12)$	$c = 12$
$n = 4$		$c \in (12,16)$	$c = 16$	$c \in (16,20)$	$c = 20$
$n = 5$		$c \in (20,25)$	$c = 25$	$c \in (25,30)$	$c = 30$
$n = 6$		$c \in (30,36)$	$c = 36$	$c \in (36,42)$	$c = 42$
$\vdots$		$\vdots$	$\vdots$	$\vdots$	$\vdots$
$n$		$c \in ((n-1)n, n^2)$	$c = n^2$	$c \in (n^2, n(n+1))$	$c = n(n+1)$
Solution Set	$S = \emptyset$	$S = (-1,0]$	$S = \left\{\frac{c}{n}\right\}$	$S = \{-n, n\}$	$S = \left\{-\frac{c}{n}\right\}$
				$S = \left\{-\frac{c}{n}\right\}$	$S = \emptyset$

## References

- Graham RL, Knuth DE, & Patashnik O (1994) Concrete Mathematics, Addison-Wesley Publishing Company, Inc. United States of America, 2nd edition
- Kitcharoensubdee W, Boonklurb R, & Laoharenoo A (2024) Solution Sets of Some Two-Term Quadratic Equations involving Floor Functions, *Proceeding of The 50th International Congress on Science, Technology and Technology-based Innovation (STT50)*, The Empress Hotel, Chiang Mai, Thailand, 25-27 November, 2024.
- Matsko VJ (2020) Quadratics and the Floor Function, *Mathematics Magazine* Vol.93, No.2, 104-112.